| mean # PXL hits vs eta | mean # PXL Layers with measurement vs eta

A A -

e S S S R o o 5

= e |

B R St — T

v oF E

Q_ -

n v -

C 3

C 2_

- Ir

PR o+ r
— o =

S F = f

r1.05 x B

1_

0.95 0.95

—=— DQM_V0001_R000000001__Global__cmsswQCD__RECO
[ mean # STRIP hits \| —— DQM_V0001_R000000001__Global__mkFitOriginalQCD__RECO
—«— DQM_V0001_R000000001__Global__mkFitNew

. TR AR SR RSN A M- o b
e | L
a [ = 8
S 141 = F
vV ot s T
121 v F
C 6__
10
N 5_— """" =
8 F
- 4=
6r 3
A 2F
2f 1
2@ o +0F
3 L 5 f
0 g 4f ] T
: | <
1k -
-3 0923




	Contents
	Page 1


